
Why is there current outside the battery

A battery''s available capacity varies depending on the temperature. As the ambient temperature rises, a

battery''s ability to deliver current increases. As the temperature falls, so does the battery''s ability to deliver

current. Temperature is a significant factor in battery performance, shelf life, charging and voltage control.

During jump-starting, we connect the boosting battery to ground rather than to the dead battery''s - terminal for

the simple reason that this provides a more direct return path to the good battery which is powering the dead

car: the return current does not have to travel through the dead battery''s minus terminal hookup cable and then

to the ...

$begingroup$ There is a convention for the technical direction of the current: positive current flows from the

plus pole of a battery to the minus pole by convention. The microscopic details of conduction in a specific

medium/conductor are a different thing. In some conductors, like metals, it is actually electrons that flow.

In an ideal battery, there is no energy loss inside the battery during operation, and in the steady state just as

much charge flows into the battery as flows out of the battery, and just as much current flows into the battery

as flows out of the battery, so the average work done per unit charge inside the battery by both the electrostatic

force ...

$begingroup$ The battery doesn''t &quot;supply&quot; electrons to the circuit. The electron current consists

of the free (mobile) electron already in the circuit. The battery supplies the electrical potential energy to move

the electrons around the circuit under the influence of the electric field produced by the battery.. $endgroup$ -

The humid air condenses on the outside of the cooler battery, creating droplets that allow electric current to

flow.... viola~ corrosion. ... and would make sure I''m not overcharging the battery..... because the reason there

is wetness and corrosion is that the battery creates gas and heat when it''s charging... and the more you charge

the more ...

In case of lithium ion battery it is clear that electrolyte consists of organic liquid which is insulator to

electricity but conductor for ions but batteries like Lead acid battery has water and sulphuric acid in electrolyte

compartment. Why electrons can''t flow through this electrolyte and short circuit the battery? - Shoaib (age 26)

Korea

If the battery temperature nears or goes outside the optimal range, then the current in the pack must be

reduced. Therefore, the charging rate will be reduced. Lithium-Ion Battery Assembly

Yes, there is an electric field around a disconnected cell -- an electrostatic field, just as if you ran a comb

through your hair and p;laced it near an electroscope. In fact, one of ...

$begingroup$ Charges don''t cause &quot;explosions&quot;. Rapid energy release in matter does. If we are
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shorting out a battery, then most of the power of the battery will be dissipated inside the battery as heat, the

temperature rises rapidly and then either the electrolyte starts boiling or there is an additional release of

chemical energy e.g. because the battery catches ...

A typical battery is a chemical electricity source, current will only flow if both terminals are used because the

current that the battery generates comes from within the battery due to chemical processes taking place. Using

just 1 terminal of battery won''t allow for current to flow through nor for current to be generated within the

battery.

There is another issue here, besides the answers already given. There is an oxidation/reduction reaction going

on inside the battery, such that one ionic species gives up an electron at the negative terminal of the battery,

and that electron travels to the positive terminal of the battery in order to combine with a positively charged

ion.

Real batteries contain real conductors, and therefore exhibit their own bit of resistance. We refer to this as the

internal resistance of the battery, and the resistance outside the battery is known as the load. Figure ...

There are three main components of a battery: two terminals made of different chemicals (typically metals),

the anode and the cathode; and the electrolyte, which separates these terminals. The electrolyte is a chemical

medium that allows the flow of electrical charge between the cathode and anode.

The reason why is because the voltage potential difference - the &quot;excess holes on the positive end&quot;

and the &quot;excess electrons on the negative end&quot; - is relative to a given ...

Solution. We start by making a circuit diagram, as in Figure (PageIndex{7}), showing the resistors, the

current, (I), the battery and the battery arrow.Note that since this is a closed circuit with only one path, the

current through the battery, (I), is the same as the current through the two resistors. Figure (PageIndex{7}):

Two resistors connected in series ...

The direction of the current inside the battery is the same as outside the battery. In other words, the current is

moving in the same direction everywhere in the loop. Conceptually, an ...

The battery obviously causes an electric field at both ends of it, making, for a millisecond, more electrons

build up on the piece of wire connected to the negative terminal of the battery, and electrons flee the wire

towards the positive side of the battery, creating a charge imbalance inside the conducting wire. ... Correct. For

example, if ...

In an alternating current, do electrons flow from the source to the device? Let''s go back to DC for a second. A

battery has two ends. A light bulb has two contacts. The battery won''t light the light bulb unless you make a

closed circuit, so yes, electrons flow from the source to the device, and they also flow back.
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The klmn current in the second example is 2 amperes. The current going into a battery or resistor always

equals the current coming out of a battery or resistor. The same applies to other circuit components (capacitors

...

Alright, this can actually be pretty easily explained without too many equations and only a single thing to keep

in mind: charge cannot pile up inside a metal. In other words, electrons won''t ever pile up within a wire. If

they did, even for a tiny amount of time, then they''d repel each other super strongly due to the $1/r^2$

dependence of the electric force electrons exert on one another ...

The reason for why wires heat up when a current flows through them is that a battery converts chemical

energy into electric potential energy. This electric potential energy is given to the electrons, and since the

electrons try to minimize their electric potential energy, the electrons convert this electric potential energy into

kinetic energy.

A 12-volt car battery is composed of six 2 volt cells, thus the "12 volt" designation. The electrical current

flows through the battery''s cells, charging the battery. However, the battery''s internals offer resistance that ...

Current can only flow from the battery''s + terminal if the current can somehow get to the - side. The battery is

not connected at the - side, so there is no way for any current to complete the circuit from + to -. There would

be a current if there were some connection between a and b. $endgroup$ -

But if there are more than one battery, the current entering and leaving the battery doesn''t need to be same.

Total charge could be divided in a such way that more charge ends up in one, less charge in other. But the total

charge could be conserved again. For example, the image applies Kirchhoff law in which the leaving and

entering current for ...

Secondary batteries can be recharged after being discharged by reversing the flow of current through the

battery. Other terms for this type of battery are rechargeable battery or accumulator. ... There have been

numerous high-profile battery failure accidents, many of which caused significant adverse impacts for the cell

manufacturers as well ...

The difference is the electric field in the conductor exerts a force on the free electrons creating current,

whereas outside the conductor current cannot flow because of the lack of mobile charges. But the electric field

still ...

Electrical current can flow in the other way in the battery too, if the battery is hooked up to something with a

bigger voltage difference (a battery charger, for example). EDIT: As to why there is current flow inside the ...

The magnetic field outside a toroid is 0 because there is no net flow of magnetic field lines from the inside to

the outside of the toroid. This is due to the fact that the magnetic field inside the toroid is confined within the

toroid''s shape and ...
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The graph that you have there it shows the LOAD line, the voltage at current equal zero is the open voltage

current of the cell and the current at voltage equal zero is the short circuit current. So it shows all the possible

values of the voltage seen at the output of the cell (V=EMF-rI) as a function of the current.

Voltage is the energy per unit charge. Thus a motorcycle battery and a car battery can both have the same

voltage (more precisely, the same potential difference between battery terminals), yet one stores much more

energy than the other. The car battery can move more charge than the motorcycle battery, although both are

12V batteries.

Why there is a sharp cut off of the charged region outside the depletion region, like on this image? ... you

ground the negative end of a 9V battery and connect the other into piece of semiconductor, will the whole

piece charge up to 9V or it only does that right next to the battery only like an insulator? $endgroup$ -

Calmarius.

And since the energy comes from the sideways direction the fields outside the wires have to change. Since the

energy flows into the wire there the field points along it and that''s why we say there is a voltage difference

long that section of wire. More energy needed means stronger fields are needed so a bigger voltage change

across that part.
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